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11.2 Radians

Find the radian measure of angle 8, if 6 is a central angle in a circle of radius r, and
@ cuts off an arc of length s.
Lr=3cms=9cm ©=7 2.r=6cm,s=3cm & =Y
3. r= 10 inches, s = 5 inches © = '/l 4. r = Sinches, s = 10 inches & = A
S. r = 4 inches, s = 127 inches o :3yqp 6. r=3inches, s = 12 inches @z
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9. Convert ]l];r
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radians to degrees. | 6)_._)

10. Convert _;_r radian to degrees. i ] 5

Convert the following measure to radians.
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73. MATHEMATICAL CONNECTIONS The sum of the
circumferences of circles A, B, and C is 63#. Find AC.

G xil + Ax e +\0xtT =6%n
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24. An arc in a circle where the radius is 3 cm has a length of 12 cm. Find the measure of the central angle in radians.

Then, convert the angle to degrees.
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In Exercises 25 and 26, find the circumference of the
circle with the given equation. Write the circumference

in terms of 7.

25. 2+y2=16 31T

6. x+D2+-3=9 G

Convert the following angle measures from radians to degrees.
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